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1.According to relational concepts, which two statements are true about a column? (Choose two.) 
A.Column position is arbitrary. 

B.Columns always contain like data. 

C.Columns require range constraints. 

D.Columns cannot contain NULL data. 

Correct:A B  
2.What are three characteristics of a Teradata RDBMS? (Choose three.) 
A.is application driven 

B.models the process 

C.models the business 

D.is easy to understand 

E.is founded on mathematical Set Theory 

Correct:C D E  
3.According to relational concepts, which is a characteristic of a row? 

A.Row sequence is specified. 

B.Rows can have different formats. 

C.A row is one instance of all columns. 

D.Duplicate rows are allowed in a table. 

Correct:C  
4.What are two characteristics of a Teradata warehouse? (Choose two.) 
A.Customer applications drive the processes. 

B.It is built to reflect business application models. 

C.Relational databases are more flexible than other types. 

D.Businesses are able to quickly respond to changing conditions. 

Correct:C D  
5.Which three stages in data warehouse usage evolution lead to Active Data Warehousing? 
(Choose three.) 
A.modifying 

B.analyzing 

C.predicting 

D.accessing 

E.operationalizing 

Correct:B C E  
6.What are two examples of tactical queries? (Choose two.) 
A.modeling customer demographics 

B.altering a campaign based on current results 

C.deriving patterns in customer buying habits 

D.determining the best offer for a specific customer 

Correct:B D  
7.What are three characteristics of an Active Data Warehouse environment? (Choose three.) 
A.support of tactical queries 

B.allows for data redundancy 

C.mission critical applications 

D.24x7 availability and reliability 
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Correct:A C D  
8.What is a logical data mart? 

A.a data load from a data warehouse 

B.an existing part of the data warehouse 

C.a separate structure of the data warehouse 

D.a physical part of the operational data stores 

Correct:B  
9.What are two benefits of a centrally located logical architecture? (Choose two.) 
A.minimizes synchronization 

B.reduces departmental politics 

C.provides departmental data control 

D.provides a single view of the business 

Correct:A D  
10.Which two statements about using Non-Unique Primary Indexes (NUPIs) are true? (Choose 
two.) 
A.They can cause skewed data. 

B.NUPIs distribute rows evenly and keep all the AMPs utilized equally. 

C.There can be more than one row with the same Primary Index value(s). 

D.They require a Unique Secondary Index (USI) for duplicate row checking. 

Correct:A C    


